PRETERIEE/NO7ER A TR 25 9 8 BAFERIRGETR NE:147+1 A
: 4H8H i 4H9H = 4H 108 2= 4H1E T 4H12H 2
L erem | wE (el evem | mE B Anes e i AN e [ eMem | WE
e A OKG |k Bk Wk Bk
ParT 2KG 0.6KG NN <R >(1555%)(600) 1& AR A 1KG AR A 2KG
4LH 06KG|  |E% 03KG| |4csmikT IKG| e 4KG| | AE%@) Rty
fiE | 06KG| = |4kl 0.KG| i |82 EA T+ JKG| i RS & EiS<B5E VK| A |4 TeW8EE  TKG
B KG| g |EEBEATERET) 8KG| "E |3 3KG| B | sk hze> G| ¥ | 3KG
£ %J% HET (CAS)-< Ef8> 10KG ?’i TR, 2 ;’; TR <K%> 10KG f;é"ﬂ L AERGTBR)<KZ> 2KG %
) 0.6KG KEEEKRT 0.6KG KEEE % 1KG 0.3KG 4L EEE) 4% 1KG
4k 03KG| Mt |Q-FfEAT + 8KG| I |3 + 12KG| gz, |BER 0.1KG| e |PERE+ SKG
gl | Y lamas ika| % |momctese]  om| P [Fmgorss IKG| 18 [ &M =R 0KG| 7 [mESA> | 7KG
R | g [k IKG| g |[SFRHAZ IKG| gy L\ =mica)<gEy 1| Y
R CE % NMermcasanay e &
KRE&(2)(0.6K) X BRA<KZ> 2KG
7| o | 06KG| 7Y [Apmshi 10KG NEE 0.2KG| 7% [ e 10KG
% | o B 10KG| ¢ o BN 10KG| o,
% AL IKG| # |FANEER) + 6KG| B4 0.1KG| |&% 0.2KG s 4 1.2KG
5 | & prEsormn 4xG| 2 |mte 0.2KG ?‘Ez HLU 12KG| 4 |48t 03KG| & |EAH 0.5KG
?; vy [ ZE 1KG 7? < B> 1KG 2& 7 fEgETH 1.2KG ff;r REGD<KZE> 1KG % ETFE) 0.3KG
4 i 8 |BET(CAS)-< > 4KG| 7 ML 0.3KG
5 % ”
== TONERETE T 1485 | b |BEBGHEER)OL > 1478 146 0| B [EmE TR >0000 148
3254 4359 6289 a1 2973 =T 5218
e Ha ma fa )
i B I E S HE S T S i
| e 34 SR 4 B 37 SR 45 R 5
| oREnE 27 T AEN ) T EAH 28 A 2.1 RN )
ol A 3 A 3 SR 2.8 SHPE 3 AL 2.5
N s e B 1 HEE 0.5 R 17 GEE 1.4
i AL KA 1 L 1 KEE PR 1
HEKRF) 613 AEAF) 650 ZAB R 728 RBOAR) | 650 HEKRP) 768
Fah R AL EH R ) PABE: s & 2 ME Bk |prR £




